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The digits 1, 2,3, 4,5,6,7, 8§, and 9 are to be written in the squares so
that every row and every column of three squares has a total of 13.

Two numbers have already been entered. What is the value of n?

A2 B 4 C6 D 7 E 8
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B Leta, b,c, d, e, f be the numbers in the squares shown. Thenthesum [g]

of the numbers in the fourlinesis 1+2+3+ ... +9+b+n+esince [g]

each of the numbers in the corner squares appears in exactly one row mle In

and one column. So45 + b+ n+¢ = 4 x 13 = 52, thatis n

b+ n+e = "T. Hence b, n, e are 1, 2, 4 in some order. - f|5|

Ifb = 2thena = 2;if b = 4then g = 0. Both cases are impossible,

sob = landa = 3.

This means thatn = 2orn = 4. However,if n = 2thenc = 10,s0n = 4and

c = &
(The values of the other letters are e = 2,.d = T.f = 6.)



